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Myopenmath Questions and Solutions

1) What rammber ¢
Ans: 175% of 10=

3) what percent of $0is

Ans: Let x% oF 90 s 54

Hence the required percent is 64

#) Employees in 2013 pald 4.2% of their gross wages towards social security (FICA tax), white
anather 6.2, Haw mach will someone earnang 533,000 a year pay towards soc v out of their g
wages’

Az Payriients lawards social securily = i *A3000 = 51,380

5) A stare has claarance Items that have been marked dewn by 55%, They are having 3 sale, adverts

additional 40% off Clearance items, What percent of the anginal price do you end up paying!

Ans 2 A 555 reduction of the marked down price yleids 45% of the original price
Clearance items are furthes reduced 40%, $o that the clesrance items are 40% of 45% or an additional 18% of
the ariginal price.

S0, 45% mins 18% leaves Z7% of the original price
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b Joyce patd $49.50 Tar an Item at the store that was 55 percent off the arsginal price, What was the
it petua?

| price was 5110

This are just & i the Y Fao
wvisit our website today!

7) The populatian of @ town incressed from 1900 in 2005 »
[percEnt ) incl e

Ans: Absolute grease - TH00

Relotive increass.

& ety 5 0 : e e by & length of 5 inches. On
[ 5 " 1590 miles apar

you witl use to wive the probiem. Be sire to'wie X a3 the unknawn

b} By eross mudtplication wa gor
A0y = 155

=y e—— = 15 irkhes.

9) A certain city covers an area of 74.7 mi®, How many square kilometers is this? Uss the camversion
factor 1 min = m. fiound 10 cne docimal place

89-9971

l- GRADES
NINJA.COM

Ana: Area of the city = 74,7 n 747 % 1.61x 161) = 1936 K’

i for a 22 1t by 40 1t house is to be dug 31 a depth of 9 feet

Hew many cublc vards of sarth need to be hauled awsy? Assume the surface af the graund i ieval,
Ans: Volume of the yards = 12 x 40 x 9 = 7920 cubic feet

= 79204 27 = 293.33 cubic yards.

11 It & rec ar gasdan is 45 Tt. by 30 F, how many Teet of are nended to enclase 117
Ans: Length of the garden = 45 1t

Width of the garden - 30 ft

Perimeter of the garden = 2 L + B) = 2{45 - 30y = 2 * 75 = 350 feet

Henpe, 150 feet of fence are needed 1o enclose the ground,

12) A of 2020, tha tiS minimum wage. i, M ilafge o
employees that rale for 35 ek, 45 woshy g8 yen,
wiaislif tha tatal ingam

Ans: First, we nead detarmine workers salary and express that annual salary in scientific notation,
Each workers Salany.= § (7.25 x 3548} = $12180 = § 1. 216 x 10°
Mo, of workess & 1.7 miltion = 1760000 - 1,7 x 10*

Ta detormine the tatal incdme, multply each worker's saiary by the tatal number of employees.

Hence, Tatal income = S{1.218 x 105 1.7 %104 = 5 20706 » 10"



